( ) - 10 000

$$\frac{\chi(T_{X-1})}{(T_{X-1})(Y_{X+1})} + \frac{\chi_{-1}}{Y_{X+1}} - \frac{Y_{X+1}}{Y_{X-1}} = \frac{Y_{X-1}}{Y_{X+1}} - \frac{Y_{X+1}}{Y_{X-1}} = \frac{(Y_{X-1})^{T} - (Y_{X+1})^{T}}{(Y_{X+1})^{T}}$$

اها۔ تزمیر ا

$$= \frac{-\epsilon_{x-\xi x}}{\epsilon_{x-1}} \Rightarrow P(x) = -\Lambda x$$

$$\lambda = R \rightarrow \frac{r^2 r}{r^2 a - a} = \frac{a + r}{r^2 a} - 1 \rightarrow \frac{1}{r^2 a - a} = \frac{a}{r}$$

۲۰۱۰ کزینے ۲

 $Q = + \frac{\Delta \pm \sqrt{24}}{4} \Rightarrow \begin{cases} \frac{11}{4} = 1 \\ -\frac{1}{4} = -\frac{1}{4} \end{cases}$ 

$$a+rb=v$$

$$fa-b=e \xrightarrow{xr} fa-rb=n$$

$$a+rb=v$$

$$a+rb=$$

اها- ندسته

٤٥٠- سرنين

$$S = \frac{-b}{r_0} = \frac{-aq}{r(-r)} = 15$$

$$S = 16(aq - \frac{1}{2}(15)) = 15 \times 4 \times 4 = 64$$

۵۰۱- نزینر ۲

15,17,10,8,15,10,14,10,8,11



١٥٩ - نزين ٢

$$f(\frac{q}{k}) = \left[\frac{q}{k} + \frac{r}{k}\right] - \left[-\frac{q}{k}\right] = r^{2} + r^{2} = r^{2}$$

$$f(-\frac{1}{k}) = \left[-\frac{1}{k} + \frac{r}{k}\right] - \left[+\frac{1}{k}\right] = 1 - 0 = 1$$

$$g-f=\left\{ (1,\frac{1}{2}),(1,\frac{1}{2}),(1,\frac{1}{2}),(1,\frac{1}{2})\right\}$$

$$\frac{1}{r} \times \frac{r}{4} = \frac{1}{4}$$

$$S_{n} = \frac{Y_{o}}{Y} \left( \frac{Y_{x} \Delta I + Y_{y}}{Y_{x}} \right) = Y_{x} = Y_{x}$$

$$U_{x} = \frac{Y_{o}}{Y_{x}} \left( \frac{Y_{x} \Delta I + Y_{y}}{Y_{y}} \right) = Y_{x} = Y_{x}$$



١١٤ - نزست ٣

۱۱۵ کزنے ا

۱۱۱- کزین ۲

$$(r \Leftrightarrow >) \Rightarrow (> \wedge \circ)$$
 $\uparrow \qquad \Rightarrow \circ$ 

$$n'-rn=\Lambda \rightarrow n'-rn-\Lambda=.$$
  $(n-\epsilon)(n+r)=.$   $(n-\epsilon)(n+r)=.$ 

١١٩ كنزنني إ

$$P(A) = \frac{\binom{\Sigma}{\gamma} + \binom{\gamma}{\gamma}}{\binom{\gamma}{\gamma}} = \frac{\gamma + \gamma^{2}}{\gamma + \gamma^{2}} = \frac{q}{\gamma} = \frac{\gamma}{\gamma}$$

イルング 17.

